= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND

1. ALLEN SCREW M5X16
VITE A BRUGOLA M5X16

CLASSIC SCREEN TORNILLO ALLEN M5X16
INBUSSCHRAUBE M5X16
VIS ALLEN M5X16

UNIVERSAL ADAPTER
ADATTATORE UNIVERSALE
ADAPTADOR UNIVERSAL
UNIVERSELLER ADAPTER
ADAPTATEUR UNIVERSEL

HEADLIGHT

2. RUBBER SPACER
DISTANZIALE GOMMA
ESPACIADOR DE GOMA

WWW.BARRACUDAMOTO.COM T AL

ENTRETOISE CAOUTCHOUC WIRE
CAVI
3. NUT @5 CABLE
DADO @5 KABEL
TUERCA @5 FIL
MUTTER @5
ECROU @5
UNIVERSAL
M8 FIXING POINT
UNIVERSAL

M8 FIXING POINT

HEADLIGHT BRACKET
NOT INCLUDED
cod. N1013-C




